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(m/m) (m) (m’/m) () (i’ /m) () ('’ /m) () (n”/m) (n”) (n”/m) () ('’ /m) () ('’ /m) () ('’ /m) () (' /m) () (' /m) (m®) (m/m) (m)

H=0. 60m
1-1 iiiE  As 2.000 1. 150 0. 058 1.358 0.528 0.518 1.358 1. 150

H=0. 60m
1-2 iiE  As 2.000 1. 150 0. 058 1.358 0.528 0.518 1.358 1. 150

H=1. 20m 1=2. 50, N=1B¢
2-1 iiiE  As 9.26 | 2.000 18.52 | 1.200 11.11 | 0.060 0.56 | 2.137 19.79 0. 564 5.22 | 1.260 11.67 2.137 19.79 1.200 11.11 | 1. 000 9.26

H=1. 20m 1=2. 50, N=1B¢
2-2 iiiE As 2.000 1. 200 0. 060 2.137 0. 564 1. 260 2.137 1.200 1. 000

H=1. 40m H=2. 50, N=2E¥
3-1 iiiE As 5.50 | 2.000 11.00 | 1.200 6.60 | 0.060 0.33 | 2.377 13.07 0. 564 3.10 | 1.500 8.25 2.377 13.07 1.200 6.60 | 1.000 5.50

H=1. 40m H=2. 50, N=2E¥
3-2 iiiE As 2.000 1. 200 0. 060 2.377 0. 564 1. 500 2.377 1.200 1. 000

H=1. 50m H=2. 50, N=2E%
4-1 iiiE As 54.27 | 2.000 | 108.54 | 1.200 65.12 | 0. 060 3.26 |2.497 | 135.51 0. 564 30.61 | 1.620 87.92 2.497 | 135.51 1.200 65.12 | 1.000 54.27

H=1. 50m H=2. 50, N=2E%
4-2 i As 2.000 1.200 0. 060 2.497 0. 564 1. 620 2.497 1.200 1. 000

H=1. 65m 1=2. 50, N=2E¥
5-1 i As 2.000 1.200 0. 060 2.677 0. 564 1. 800 2.677 1.200 1. 000

H=1. 65m 1=2. 50, N=2E¥
5-2 i As 2.000 1.200 0. 060 2.677 0. 564 1. 800 2.677 1.200 1. 000

H=1. 80m 1=3. 00, N=2E¥
6-1 i As 4.09 | 2.000 8.18 | 1. 200 4.91 | 0.060 0.25 | 2.857 11. 69 0. 564 2.31 | 1.980 8.10 2.857 11. 69 1.200 4.91 | 1. 000 4.09

H=1. 80m 1=3. 00, N=26%
6-2 i As 2.000 1.200 0. 060 2.857 0. 564 1. 980 2.857 1.200 1. 000

H=2. 00m 1=3. 00, N=26%
-1 i As 8.93 | 2.000 17.86 | 1.200 10.72 | 0. 060 0.54 | 3.097 27. 66 0. 564 5.04 | 2.220 19. 82 3.097 27.66 1.200 10.72 | 1. 000 8.93

H=2. 00m 1=3. 00, N=26%
-2 i As 2.000 1.200 0. 060 3.097 0. 564 2.220 3.097 1.200 1. 000
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(m/m) (m) (m’/m) () (i’ /m) () ('’ /m) () (n”/m) () ('’ /m) () ('’ /m) () ('’ /m) () ('’ /m) () (' /m) (m®) (m*/m) (m®) (m/m) (m)
H=1. 20m 1=2. 50, N=1B¢
10-1 HiE  As 2. 000 0. 500 0. 020 2.140 0. 564 1.310 2.140 1. 200 1. 000
H=1. 20m 1=2. 50, N=1B¢
10-2 HiE  As 2. 000 0. 500 0. 020 2.137 0. 564 1.310 2.137 1. 200 1. 000
H=1. 20m 1=2. 50, N=1B¢
11-1 HiE  As 93.34 | 2.000 186. 68 | 0. 850 79.34 | 0.040 3.73 | 2.160 | 201.61 0. 564 52.64 | 1.340 125.08 2.160 201. 61 1. 650 154.01 | 1. 000 93. 34
H=1. 20m 1=2. 50, N=1B¢
11-2 HiE As 2. 000 0. 850 0. 040 2.137 0. 564 1. 340 2.137 1. 650 1.000
H=1. 40m H=2. 50, N=2E¥
12-1 HiE As 65.54 | 2.000 131.08 | 0.850 55.71 | 0.040 2.62 | 2.400 157. 30 0. 564 36.96 | 1.580 103. 55 2.400 157. 30 1. 650 108.14 | 1.000 65. 54
H=1. 40m H=2. 50, N=2E¥
12-2 HiE As 2. 000 0. 850 0. 040 2.377 0. 564 1. 580 2.377 1. 650 1.000
H=1. 80m 1=3. 00, N=2E¥
13-1 il As 1.81 | 2.000 3.62 | 0.850 1.54 | 0.040 0.07 | 2.880 5.21 0. 564 1.02 | 2. 060 3.73 2. 880 5.21 1. 650 2.99 | 1.000 1.81
H=1. 80m 1=3. 00, N=2E¥
13-2 i As 2. 000 0. 850 0. 040 2.857 0. 564 2. 060 2.857 1. 650 1. 000
H=0. 60m
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H=0. 60m
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15-1 i As 5.01 |2.000 10.02 | 2. 100 10.52 | 0.110 0.55 | 4.230 21.19 3. 020 15.13 4.230 21.19 2.110 10.57 | 1. 000 5.01
H=1. 20m 1=2. 50, N=18%
15-2 HiE  As 2. 000 2. 100 0.110 4.230 3. 020 4.230 2.110 1. 000
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H=1. 20m LAVR R 2
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H=1. 20m LAVR R 2
11-1 AHE  As DCIP ¢ 600 m | L=145.07 |48.27 = 93.34
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H=1. 40m RIS S H
12-1 HE  As DCIP ¢ 600 m | L=161.92 | 3.62 = 65. 54
H=1. 40m RIS S H
12-2 HHE  As DCIP ¢ 600
H=1. 80m RIS S
13-1 HiE  As DCIP ¢ 600 m | L=| 181 = 1.81
H=1. 80m LRI 250
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H=0. 60m Pz 7 ) — N
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25 5 o B EoME T#Y JEHIIE Eginill YR TEHIE | BEBIREIE| SREIR | BIAER| SEDE | SR B FAEIRIE | BRI | Bea R
(mm) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m2) (m) (m) (m) (m)

H=0. 60m

1-1 MiE  As DCIP 600 0. 631 0. 600 1. 150 1.231 1. 181 0. 050 0. 100 0.731 0.313 0. 050 0. 450
H=0. 60m

1-2 MiE  As DCIP 600 0.631 0. 600 1. 150 1.231 1. 181 0. 050 0. 100 0.731 0.313 0. 050 0. 450
H=1. 20m

2-1 MiE  As DCIP 600 0. 631 1. 200 1. 200 1. 831 1. 781 0. 050 0. 100 0.731 0.313 0. 050 1. 050
H=1. 20m

2-2 il As DCIP 600 0.631 1. 200 1. 200 1. 831 1. 781 0. 050 0. 100 0. 731 0.313 0. 050 1. 050
H=1. 40m

3-1 il As DCIP 600 0.631 1. 400 1. 200 2. 031 1. 981 0. 050 0. 100 0. 731 0.313 0. 050 1. 250
H=1. 40m

3-2 il As DCIP 600 0.631 1. 400 1. 200 2. 031 1. 981 0. 050 0. 100 0. 731 0.313 0. 050 1. 250
H=1. 50m

4-1 il As DCIP 600 0.631 1. 500 1. 200 2. 131 2. 081 0. 050 0. 100 0. 731 0.313 0. 050 1. 350
H=1. 50m

4-2 il As DCIP 600 0.631 1. 500 1. 200 2. 131 2. 081 0. 050 0. 100 0. 731 0.313 0. 050 1. 350
H=1. 65m

5-1 il As DCIP 600 0.631 1. 650 1. 200 2. 281 2. 231 0. 050 0. 100 0. 731 0.313 0. 050 1. 500
H=1. 65m

5-2 il As DCIP 600 0.631 1. 650 1. 200 2. 281 2. 231 0. 050 0. 100 0. 731 0.313 0. 050 1. 500
H=1. 80m

6-1 miE  As DCIP 600 0.631 1. 800 1. 200 2.431 2. 381 0. 050 0. 100 0.731 0.313 0. 050 1. 650
H=1. 80m

6-2 miE  As DCIP 600 0.631 1. 800 1. 200 2.431 2. 381 0. 050 0. 100 0.731 0.313 0. 050 1. 650
H=2. 00m

-1 miE  As DCIP 600 0.631 2. 000 1. 200 2.631 2. 581 0. 050 0. 100 0.731 0.313 0. 050 1. 850
H=2. 00m

-2 WE  As DCIP 600 0.631 2. 000 1. 200 2.631 2. 581 0. 050 0. 100 0.731 0.313 0. 050 1. 850
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(mm) (m) (m) (m) (n®) (*) (n®) (*) (n®) (®) (n®) (®) (n”) (”) (m)
H=0. 60m [Coplill
1-1 MiiE  As DCIP 600 0. 600 1. 150 2. 000 1. 150 0. 058 1. 358 0. 528 0.518 1. 358 1. 150
H=0. 60m [Coplill
1-2 MiiE  As DCIP 600 0. 600 1. 150 2. 000 1. 150 0. 058 1. 358 0. 528 0.518 1. 358 1. 150
H=1. 20m ] H=2. 50, N=1B%
2-1 MiE  As DCIP 600 1. 200 1. 200 2. 000 1. 200 0. 060 2.137 0. 564 1. 260 2.137 1. 200 1. 000
H=1. 20m [Coplill H=2. 50, N=1B%
2-2 HiiE  As DCIP 600 1. 200 1. 200 2. 000 1. 200 0. 060 2.137 0. 564 1. 260 2.137 1. 200 1. 000
H=1. 40m [aaLiill H=2. 50, N=28%
3-1 HiiE  As DCIP 600 1. 400 1. 200 2. 000 1. 200 0. 060 2.377 0. 564 1. 500 2.377 1. 200 1. 000
H=1. 40m [aaLiill H=2. 50, N=28%
3-2 HiiE  As DCIP 600 1. 400 1. 200 2. 000 1. 200 0. 060 2.377 0. 564 1. 500 2.377 1. 200 1. 000
H=1. 50m [aaLiill H=2. 50, N=28%
4-1 HiiE  As DCIP 600 1. 500 1. 200 2. 000 1. 200 0. 060 2. 497 0. 564 1. 620 2.497 1. 200 1. 000
H=1. 50m [aaLiill H=2. 50, N=28%
4-2 HiE  As DCIP 600 1. 500 1. 200 2. 000 1. 200 0. 060 2. 497 0. 564 1. 620 2.497 1. 200 1. 000
H=1. 65m Bt H=2. 50, N=2%
5-1 HiE  As DCIP 600 1. 650 1. 200 2. 000 1. 200 0. 060 2.677 0. 564 1. 800 2.677 1. 200 1. 000
H=1. 65m Bt H=2. 50, N=2%
5-2 HiE  As DCIP 600 1. 650 1. 200 2. 000 1. 200 0. 060 2.677 0. 564 1. 800 2.677 1. 200 1. 000
H=1. 80m Bt H=3. 00, N=2%
6-1 HiE  As DCIP 600 1. 800 1. 200 2. 000 1. 200 0. 060 2. 857 0. 564 1. 980 2. 857 1. 200 1. 000
H=1. 80m {1 H=3. 00, N=2%
6-2 i As DCIP 600 1. 800 1. 200 2.000 1. 200 0. 060 2.857 0. 564 1. 980 2.857 1. 200 1. 000
H=2. 00m {1 H=3. 00, N=2%
7-1 i As DCIP 600 2.000 1. 200 2.000 1. 200 0. 060 3. 097 0. 564 2.220 3. 097 1. 200 1. 000
H=2. 00m {1 H=3. 00, N=2%
-2 i As DCIP 600 2.000 1. 200 2.000 1. 200 0. 060 3. 097 0. 564 2.220 3. 097 1. 200 1. 000
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(mm) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m2) (m) (m) (m) (m)

H=1. 20m

10-1 il As DCIP 600 0. 631 1. 200 1. 200 1. 831 1. 781 0. 050 0. 100 0.731 0.313 0. 050 1. 050
H=1. 20m

10-2 il As DCIP 600 0.631 1. 200 1. 200 1. 831 1. 781 0. 050 0. 100 0.731 0.313 0. 050 1. 050
H=1. 20m

11-1 il As DCIP 600 0. 631 1. 200 1. 200 1. 831 1. 781 0. 050 0. 100 0.731 0.313 0. 050 1. 050
H=1. 20m

11-2 il As DCIP 600 0.631 1. 200 1. 200 1. 831 1. 781 0. 050 0. 100 0. 731 0.313 0. 050 1. 050
H=1. 40m

12-1 il As DCIP 600 0.631 1. 400 1. 200 2. 031 1. 981 0. 050 0. 100 0. 731 0.313 0. 050 1. 250
H=1. 40m

12-2 il As DCIP 600 0.631 1. 400 1. 200 2. 031 1. 981 0. 050 0. 100 0. 731 0.313 0. 050 1. 250
H=1. 80m

13-1 il As DCIP 600 0.631 1. 800 1. 200 2.431 2. 381 0. 050 0. 100 0. 731 0.313 0. 050 1. 650
H=1. 80m

13-2 MiE  As DCIP 600 0. 631 1. 800 1. 200 2.431 2. 381 0. 050 0. 100 0.731 0.313 0. 050 1. 650
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- - i (=g B3 FRHIE | BRI | BRISRRUE R | SEEERULSY | BEMUEED | SEE] | MR G@) | MR @) RGN | AT BT AR T
(mm) (m) (m) (m) (n®) (*) (n®) (*) (n®) (®) (n®) (®) (n”) (”) (m)
H=1. 20m [Coplill H=2. 50, N=1E%
10-1 MiiE  As DCIP 600 1. 200 1. 200 2. 000 0. 500 0. 020 2. 140 0. 564 1.310 2. 140 1. 200 1. 000
H=1. 20m [Coplill H=2. 50, N=1B%
10-2 MiiE  As DCIP 600 1. 200 1. 200 2. 000 0. 500 0. 020 2.137 0. 564 1.310 2.137 1. 200 1. 000
H=1. 20m AR H=2. 50, N=1B%
11-1 MiE  As DCIP 600 1. 200 1. 200 2. 000 0. 850 0. 040 2. 160 0. 564 1. 340 2. 160 1. 650 1. 000
H=1. 20m [Coplill H=2. 50, N=1B%
11-2 HiiE  As DCIP 600 1. 200 1. 200 2. 000 0. 850 0. 040 2.137 0. 564 1. 340 2.137 1. 650 1. 000
H=1. 40m [aaLiill H=2. 50, N=28%
12-1 HiiE  As DCIP 600 1. 400 1. 200 2. 000 0. 850 0. 040 2. 400 0. 564 1. 580 2. 400 1. 650 1. 000
H=1. 40m [aaLiill H=2. 50, N=28%
12-2 HiiE  As DCIP 600 1. 400 1. 200 2. 000 0. 850 0. 040 2.377 0. 564 1. 580 2.377 1. 650 1. 000
H=1. 80m AR H=3. 00, N=2%
13-1 HiiE  As DCIP 600 1. 800 1. 200 2. 000 0. 850 0. 040 2. 880 0. 564 2. 060 2. 880 1. 650 1. 000
H=1. 80m AR H=3. 00, N=2%
13-2 HiE  As DCIP 600 1. 800 1. 200 2. 000 0. 850 0. 040 2. 857 0. 564 2. 060 2. 857 1. 650 1. 000
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(mm) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m2) (m) (m) (m) (m)
H=0. 60m
14-1 Ml As DCIP 600 0. 631 0. 600 2.100 1. 231 1. 181 0. 050 0. 100 0.731 0.313 0. 050 0. 450
H=0. 60m
14-2 Ml As DCIP 600 0. 631 0. 600 2.100 1.118 1. 231 0. 063 1.118 0. 050 0. 100 0.731 0.313 0. 050 0. 450
H=1. 20m
15-1 i As DCIP 600 0. 631 1. 200 2.100 1.831 1. 781 0. 050 0. 100 0.731 0.313 0. 050 1. 050
H=1. 20m
15-2 MiE  As DCIP 600 0. 631 1. 200 2.100 1. 781 1. 831 1.781 0. 050 0. 100 0.731 0.313 0. 050 1. 050
KBLIL R AL 2 bR
Im*4 Y O ;T
e - o EgE R PREIE | BEEEUINT | SRR | SEEEARAL Y| BRARIRED | ASARED | R (D) | MR (W) | R GEA D) | FEAE LA AR T A IR T
(mm) (m) (m) (m) () (m°) (m°) (m°) () () (n®) (n®) (n®) (n®) (m)
H=0. 60m [COREL]
14-1 il As DCIP 600 0. 600 2.100 2.000 2.100 0.110 2.970 1. 760 2.970 2. 100
H=0. 60m [COREL]
14-2 il As DCIP 600 0. 600 2.100 2.000 2.100 0.110 2.970 1. 760 2.970 2. 100
H=1. 20m Ll H=2. 50, N=18%
15-1 il As DCIP 600 1. 200 2.100 2. 000 2. 100 0.110 4. 230 3. 020 4. 230 2.110 1. 000
H=1. 20m AR H=2. 50, N=18%
15-2 il As DCIP 600 1. 200 2.100 2. 000 2. 100 0.110 4. 230 3. 020 4. 230 2.110 1. 000
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HIzyg ¢ 50%90° 18 N= 4 = 4
HIN W7y b ¢ 50 il N= 1 = 1
TR 6. 000

HIVP ¢ 50 6. 000
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25 SR K%
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Bk Bk
R DT T As 15emh m | L=| 12.00 = 12.00
(RS Co 15emh m
LI T | v oo wns) BRI KE TG
FEAGIRTES - W5y t | G=| 1200 =+ 240 X 1.8 X 0.8 X L 0.08 | = 0.1
S RV 1 As m® | A=| 3.30 = 3.30
S R AV 1 Co m?
SR sy T As m?® | V=] 0.17 = 0. 17
RSy T Co m?
Bt T m® | V=| 2.68 = 2. 68
A HOH m’
PR T [ m® | V=] 0.51 = 0.51
PR T e m® | V=] 2.15 2.15
ML R T v+ m®
A Ay T m’ | V= 2. 68 2.68
AR T m?
REIBT FE#RIEAs (13)  t=Hem m® | A=] 3.30 3.30
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BB T (B2 T1X) -
SRR T | REMRRRRT | MRS T | HEWIEEIT i MET(®) | BETE | METEGND | RAELAsT BT REIRT TET
&5 il PTER o | ogom | MR KR NCR| KB | NCR| RE | WAR| KR | WACR| MR | WRE | ROR | NOTE | ROR | NCE | KR |NCR| KB WIR| KB | miR| s
@m | @ || @ @ @ [ew] @) || @ | ew e (e @ | @ | ew | e | e | w/m | @ | ww | @
H=0. 80m
+T19-1 e As 6.00 | 2.000 12.00 | 0. 550 3.30 | 0.028 0.17 | 0. 446 2.68 0. 085 0.51 | 0.358 2.15 0. 446 2.68 0. 550 3.30
H=0. 80m
+T19-2 (B} As 2. 000 0. 550 0. 028 0. 446 0. 085 0. 358 0. 446 0. 550
. Co Co Co Co
! 6.00 |As 12.00 |As 3.30 |As 0.17 2.68 0.51 2.15 2.68 As 3.30




} . T TR S (HIVP ¢ 50)
Bl KB Aaas T8 (i ERE2 T.X) remE
AL
FK5 i AR - R BT HE= -
H=0. 80m Jent (1)
+T9-1 il As HIVP ¢ 50 m |L= 6. 00 =
H=0. 80m

+T19-2 fiiE  As HIVP ¢ 50
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T TSEE
5 — o B EoME T#Y ErlllA Eg il IR THHITE | BRI | SmAIE | BlsiEE | ETEDE B R R IRE PR G R | Rea R
(mm) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m)
1=0. 80m
+To-1 | il As|  HIVP 50 0. 060 0. 800 0. 550 0. 860 0.810 0. 050 0. 100 0. 160 0. 003 0. 050 0. 650
1=0. 80m
+T9-2 | Mili  As|  HIVP 50 0. 060 0. 800 0. 550 0.810 0. 860 0.810 0. 050 0. 100 0. 160 0. 003 0. 050 0. 650
SCER LS A 4 bR
¥4 0 o+ T E
5 -— i (e 40 AR EHEEOIMT | AHEERRR R | BREERAL Y | R I Pt MR () | HR (Fe) R G L) | 84 LAy | BT 5= 1H +THET
(mm) (m) (m) (m) (m®) (") (m*) () (m®) (") () (") (n®) (m®) (m)
H=0. 80m Il
+To-1 | M@ As| HIVP 50 0. 800 0. 550 2.000 0. 550 0.028 0. 446 0. 085 0. 358 0. 446 0. 550
H=0. 80m Il
+T9-2 | i As| HIVP 50 0. 800 0. 550 2.000 0. 550 0.028 0. 446 0. 085 0. 358 0. 446 0. 550
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300 ¢ 1200
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NS ¢ 600 —-Fi %% ‘ I e —
|
¢
¢ 600K IH FE  A=0.313m2
a7 J—F V= {(1.10 X 1. 10) — 0.313}
(18-8-25) X 7.90 = 7.09 m3 7.09
[A] A Al= .10 X 7.90 X 2 = 17.38
A2=( 1.10 X 1. 10 — 0.313 )
2 = 1.79

it 19. 17 m2 19. 17
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BT
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B L 4 175 m’ 20
Eif 4175 m® 20
EEREMSY 4 75 m’ 20
avol)—+F
Hui L i m’ 3
1 i =0 m’ 3
ERENS =0 m’ 3
#IHT
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SHEERI M| EEEALT | m 125. 8
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RKEEKER BET (E5R)
LA AE #HEM
p: [ ZEIA4 T (YT IHFE24 T BIE24 7 #EM
(m) (m) (m) (& F)
IP.12 ~ IP. 14
[P. 15 ~ IP. 22 3
1.8 0.6
9.4
18.3
11.2
IP.23 ~ IP. 28 9.2 4.2 0.6 3
17.5 1.8 0.6
11.6
1.9
IP. 30 ~ IP. 34 8.7 4.8 0.6 3
21.9 4.2 0.6
18.0
1.3
IP. 35 ~ IP. 36 4.2
5 129.0 21 3 9

3.0/0. 6=b5%FR
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BIEYEEL
2T g ERET AV —k (&) avy)—k(HH)
MTEHE e HTEHE e ETE #E BT #E
(m)]  (m2, m3) (m3)[ (M2, m3) (m3) (m2) (m3) (m2) (m3)
LB A%
REA(T 129.0 0.13 16.77
PYTIF2A4F 21.0 0.10 2.10
(B A
(1R o 5 0.07 0.35
HEH (B A
&ha 9 0.04 0.36
HEH 9 0.32 2.88
& 19.58 2.88
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17 I ESSEEFERI 0v) IR L
U RELAT AT o4 T 247D 247Q 2470 247@
(m) (m) (m) (BT (BT (BT (BT
IP. 12 ~ IP. 14
IP. 15 ~ IP. 22 2 1
1.8 1
9.4
18. 1
11.0
IP. 23 ~ IP. 28 8.7 4.2 1 3
16.9 1.8 1
11.4
1.8
IP. 30 ~ IP. 34 8.2 4.8 1 2 1
21.3 4.2 1
17.8
1.2
IP. 35 ~ IP. 36 4.2
& 125.8 21 5 0 1 0 2
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R
AR 5 = CTA T S
[REEEE R 1y ] FEHREH A Ll1=  125.8 m
JAFAT L2= 21 m
Bor AT L3= 5 m
PEHI Vi= 2.5 / 10.0 X 125.8 31. 45
Vo= 2.0 / 10.0 X 21.0 4.20
V3= 2.3/ 10.0 X 5.0 1.15
H 36. 80 m3 36.8
HE Vi= 1.4/ 10.0 X 125.8 17. 61
A L) V2= .o / 10.0 X 21.0 2.10
V3= 1.2/ 10.0 X 5.0 0. 60
7 20. 31 m3 20.3
[fhriEmt] 247D N1= 0 & T
A AO) N2= 7 AT
A TR N3= 0 &P
A AO) N4= 2 AT
el Vi= 1.85 X 0 0. 00
V2= .92 X 7 13. 44
V3= .92 X 0 0. 00
V4= .92 X 2 3.84
g 17.28 m3 17.3
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[ L]
HER Vi= 0.55 X 0 = 0. 00
AL Vo= 0.87 X 7 = 6. 09
V3= 0.59 X 0 = 0. 00
V4= 0.87 X 2 = 1.74
H 7.83 m3 7.8
<HE>
N RE ) VARV gy
PEHI SV= 36.80 + 17. 28 = 54.08 m3 54. 1
R >V= 20.31 + 7.83 = 28.14 m3 28. 1
i 1)
by L SV= 54.08 — 28. 14 = 25.94 m3 25.9
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